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(15 %) Consider a highway segment. One singlé Clothoid of

parameter 1500 connects two curves of radius 1200M and 1800M.

Please calculate the length of the Clothoid curve,

(20 %) In the airline industry, operating costs per customer served are

often higher for smaller companies, compared with those of larger

~ companies. Please briefly explain the reason.

(15 4) A vehicle is traveling on a straight highway at 90KPH. The
tire-pavement friction coefficient is 0.72. The grade 1s 2%
dﬂwﬁgrada. Please calculate the stopping distance for the vehicle.

Does this stopping distance depend on the brakes?
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